QAlgebra 2 CC -Unit11

1.  Write the equation for the sinusoidal function below:

Amplitude: 4 y
Midline: O L 104+ -
Period: AT /3 L

Frequency: 3
Equation: \jl = dein(3x)
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Write the equation for the sinusoidal function below:
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Amplitude: i k..
Midline: -3
Period: H1
O Frequency: ' , 5T
Equation: \= Hoos(Ex)=2
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Amplitude: 2 Z;
Midline: 5 W=
Period:_2
Frequency: 0B - - '
Equation: )(’—‘- - A0S G%x) 5 X i
- L = 3 I 0.5
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3. Write the equation for the sinusoidal function below:
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4. Find the value of sin@ if cos@ =—% and @ terminates in quadrant IL

5. The terminal side of angle 6 in standard position intersects the unit circle with

equation x> +y* =1 at the point| — 13) The value of cos@ is
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6. If @ is an angle in standard position whose terminal side intersects the unit circle at the point (——5- 5) then
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a possible value for 6 is ,@»' |
(1) -150° (2) 135° (3) 120° @ —-210° i
|
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7. Which of the following angles does tft/llave a referfnce angle of 2 ‘
(1)-20° (2) 160° // (3)250° (4) 380° : i
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8. Expressed as a function of a positive, acute angle, cos(240 )f? T _ //7/

o
(1) cos(30°) ) cos(120 (3) —cos(30°) (4) —cos(60°) |
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9 Which of the following angles is not coterminal with the angle 8 =40°? ""}Z; ‘
|

(1) 400° @) -320° (3) 760° - 0°

11. Which of the following represents the range of the function y =-4sin(x)+6 ? 11. ot 1
\

M (@10 @ [210] @ [-102] @) (-10.2)
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b+4= 10 3

b-1= *

12. A sinusoidal equation of the form y = Asin(x)+C has a maximum y-value of 14 and a minimum y-value of ;
|

—6 . Which of the following is the value of C?
Hr - . B . f
— T = -@ 4 =



./.

13.

10.

11.

(¢

(1) 10

Which of the following lines would not intersect y =6cos(x)+2 ? 2
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(1) y=—4 @) y=-2 (3) y=8 =1o

An arc of length 25 inches is subtended by an angle of 1.5 radians. What, to the nearest tenth of
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degree measures to its equivalent radian measure. Leave in

an inch, is the radius of the circle?

Convert each of the following

reduced form in terms of 77..
' . b. 330°, 1T T c. 270° (T
. \£0 /{f 70 @

Convert each of the following radian measures to its equivalent degree measure. Give answers to

12.
the nearest degree.
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13. As 6 increases from = to 5 the value of cosé
ﬁ;, %—
(1) decreases only (3)) decreases, then increases
(2) increases only (4) increases, then decreases
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14 Some years a2o an oil tanker called Sea Empress ran aground in a bay called Milford Haven in the west

of Wales because the captain misread the tide tables. Suppose the depth of the water in Ailford Haven

vanes with the tde according to the equation o =2 xm(~—) + 7 where d is the depth measured in
6O

weters and 113 the number of hows simee mudnche

a. Whatus the depth of the water at kigh ude? e 77' i ',(,l
. ) A e 2T
b What s the depth of the water at low tide? =k 5 0P \ <
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¢ Atwhatnme does hightide occw? _ 4 G vy . U!,_. \ {) -\
d How many howrs are there betwenn the times whienthie waler t5 a8 103 deepest? |1 h‘_‘ e
¢ Artwhartume doos low de ecas?
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